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ENGLISH VERSION

Instructions : (1) Write answer of all questions in main answer sheet.

(2) Figure to the right side indicate full marks of the

questions.
1 Multiple choice questions : 20
(1) Which is the following include in population policy ?
(A) Decrease birth mortality rate
(B) Marriage Registration
(C) Maternity Registration
O) Al
(2) Death of persons per 1000 population in a year is known
as:
(A) birth rate (B) death rate
(C) population rate D) all
(3) Birth of children per 1000 population in a year is known
as:
(A) birth rate (B) death rate
(C) both (D) none of above
(4) New population policy started in year.
(A) 2000 B) 2005
©) 2010 (D) none of these
(5) Which of the following types of projection :

(A) 1inter census (B) post census

(C) future projection (D) all of the above
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(6) Which of the following is mathematical method of
population projection ?

(A) Arithmetic projection
(B) Geometrical projection

(C) Graphic method
O) Al

(7)  Which of the following is scope of population projection.
(A) High projection (B) Medium projection
(C) Low projection D) Al

(8 The control of new child born in family knows as
(A) Family planning (B) Size of family
(C) Both (D) None of these

(9) The population lives in per square kms is knows as
(A) Size of family (B) Resident
(C) Densityofpopulation (D) All of above

(10) Which is the following programme is include in family

welfare ?
(A) sex education (B) sterilization
(C) both (D) none of the above

(11) Which of the following is new name of Family Planning ?
(A) Family welfare (B) Size of family
(C) Both (D) None of the above

(12) Which of the following is established for observation of
new population policy ?
(A) national population commission
(B) population control commission
(C) both
(D) none of the above
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(13) The main reason for poverty in India is -
(A) increase of population
(B) unemployment
(C) both
(D) none of these

(14) Which economic system has possible of population
projection ?
(A) Varable (B) Stable
(C) Both (D) None

(15) Which of the following useful for future projection of
population ?

(A) birth rate (B) death rate
(C) both (D) none of these
(16) Which of the following city has maximum population in
Gujarat ?
(A) Ahmedabad (B) Gandhinagar
(C) Baroda (D) Bhu;

(17) Which of the following city has maximum population in
Saurashtra ?
(A) Bhavnagar (B) Jamnagar
(C) Rajkot (D) dJunagadh

(18) Which of the limitation of family welfare programme.
(A) Lack of education (B) Rural population
(C) Structure of society D) All

(19) Which of the following problems in Urban Area of Gujarat :
(A) Traffic problems
(B) Density of population
(C) Not enough drainage system
O) Al

(20) Which of the following objective of population policy :
(A) Decrease in rate of population
(B) Decrease in death rate
(C) Family welfare
O) Al
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2  Explain the stable population and its advantages and
disadvantages.

OR

2  Explain the changes in family structure and old age
security.

3 What is population policy ? State its objectives and
importance.

OR

3  Discuss the national population policy in detail.

4 (A) Write short note : (Any one)

(1) Evaluation of population policy in India

(2) Family planning

(B) Write short note : (Any one)

(1) Population and environment

(2) Health, poverty and environment

5 Write short answers : (Any two)

(1) Daiscuss the new population policy.
(2) Explain the analysis of urban population in Gujarat.
(3) State the Limitation of Family Welfare Programme.
(4) What is birth rate and death rate ? Explain the causes
of high birth rate.
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